BT HMANB S E R EER

KT 20234 4-9 J %ﬁ%ﬁﬁﬁﬁf]i&%ﬂlﬁ% “ff
20 VHIHMERR 2

HH—FRABRS RS E, LAHGFRE “HFEF7 F40
ERANFFEH, K 2023 £ 4-9 A #FE LA TR SRS “4F
%ﬁ”ﬁ%%%&ﬁﬁ?:

—.\ BIEFMNIE

2023 4 4-9 A, %ﬁ%%ﬁﬁﬁ T HR% “HF £ 1T B2
322270 A, HF & FiFA 156250 4. & T 166020 4.

=\ BEBRE ‘BHEITE mEE

2023 F 4-9 A, MELEAMITHG RS “HFEF7 ez “F
A 322260 N, “HET T, “EARBERT 3A. NHE
270N, “EEAHE” 04, #FIFE 100. 00%.

= ZER

2023 4 4-9 A Y E| =7 0 1




A B AU 1202349 A BGGFIRS “aF720F 1 scil-d
e BB e ne T iy zivg | 5000 s
sl T |ERNE S | EEANE TSRS EE e

1 EEFEfiEDEHEHESR 48193 4T0ES 1135 43193 | 0 ] ] ] ] = 100%
o #HENA R 43 16 27 43 0 ] ] ] ] —— 100%
3 EHEA B G40 1 GG 640 0 ] ] ] ] —— 100%
4 FETTEER 161208 gv3er | v3el | 161207 | 1 0 o o o — 100%
5 RS EEERE 1675 524 1061 1576 i 0 0 0 ] — 100%
G FFET{FNEEEE 181 a1 1m0 18 ] ] ] ] ] — 100%
7 =y =] 12760 5319 7441 12760 0 1] 1] 1] 1] —— 100%
g ERE BT 519 234 35 G19 0 1] 1] 1] 1] — 100%
] HE = EERE 4523 1532 coa 4523 ] ] ] ] ] —— 100%
10 HEHETR 1251 4 a3 1251 0 ] ] ] ] —r= 100%
11 FEHAFE={ R 1421 400 1=l 1421 0 ] ] ] ] — 100%
1z HERENR G2492 457 B2000 | G491 1 ] ] ] ] =i 100%
13 #ETH PG 37330 1021 o 3330 0 ] ] ] ] —— 100%
14 | B ANERDMSEER FEzd 1754 4770 EE15 3 z o D o —— 100%
15 R N o= A | Iy 1745 GG 1102 1745 ] 1] 0 1] 1] —_— 100%
16 EEETIER 420 129 281 470 0 1] 1] 1] 1] — 100%
17 FEminEEEER S4GT e 1767 2451 1 0 0 o o — 100%
18 FEHFIE 1100 62 T3 1100 o o o 0 0 — 100%
19 HETER 1841 681 1180 1841 ] ] ] ] ] i 100%
20 HELHHR 311 137 174 311 ] ] 0 ] 0 — 100%
21 FIE P EEE= 4056 140 TR 4006 0 ] ] ] ] —= 100%
zz Rk BN EER 2815 1045 1770 281G i ] ] ] 0 — 100%
23 SFELERREHESRA 16 = 14 16 0 0 0 o D — 100%
74 EEF2ER ZEIT 1059 1795 ZEIT ] ] ] ] ] —— 100%
25 FEESEER 50 35 42 50 0 0 0 0 o —= 100%
26 FE{IFEN=EIEE SER0 & 1705 ZETE 1 o o o o — 100%
27 HEEHERER 4515 1565 zas1 4818 0 1 o o o —— 100%
2a SR EE LT EEA-AE e 219 B17 T 0 ] ] ] ] — 100%
23 IEEBEEASEER 1a01 65T add 1a01 ] ] ] ] ] —— 100%
i HEISER 49 19 il 49 ] ] ] 0 ] e 100%
31 ES=E 5 3 3 G ] 1] 0 1] 1] —_— 100%
it 322270 156250 | 166020 | 322260 | 7 3 0 0 0 —r 100%




